Math 2568, Quiz #16, Fall 2013 Name - Y

Instructions: Sho

w all work. Use exact answers unless specifically asked to round.

1. A healthy child’s systolic blood pressure p (in millimeters of mercury) ad weight w (in pounds)
are approximately related to the equation o + B1(Inw) = p. Use the following experimental

data to estimate the systolic biood pressure of a healthy child weighing 100 pounds.
w 44 61 81 113 131
Inw 138l 4.11 4.39 4.73 4.88
p 91 98 103 110 112
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2. To meas

ure the take-off performance of an airplane, the horizontal position of the plane was
measured every second, the data is provided in the table below. Find the least squares cubic

curvew|= fo + [t + B,t? + Bst? for this data. Use your answer to estimate the speed at
t=4.5 seconds.

0 1 2 3 4 5 6 7 8 9 10 11 12
v |0 88 299 62 1047 1591 222 2945 3804 4711 571.1 686.8 809.2 |
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